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Abstract

When studying mathematics, differential equations should be indicated, in
which the variable is (function) as this equation shows the relationship between
(function) and its derivatives. Solving such differential equations means finding
(functions) -y- that achieve that equation, and the set of these functions is called
(general solution of equation). And every element of this group, called “equation
solution”. The normal differential equation is one element. This is the opposite
(partial differential equation) in which the variable (function) and several
variables, the derivatives are partial derivatives and (differential equations)
are very important in the interpretation of scientific phenomena, physical and
chemical. The reason for this is that we can write (equations) with many variables
(as a function) of derivatives such as speed, location of different objects.
Therefore, it is necessary to resolve these (equations) and how to deal with them.
In many cases, the equation cannot be resolved in a totally compulsory manner. It
is necessary to recognize (theories and characteristics of these equations) which
by their nature facilitate the solution. Equations can be classified into different
categories by (equation grade), as the equation rank is higher (derivative) and the
equation grade is higher than the derivative.
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